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Geometry
WS- 9.5 Dilations & Distortions

Period

Find the image of each point under each of the following transformations. (Complete all four transformations for
each point.)
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State the functional notation for the stretching, shrinking, expansion or contraction that maps the given point into

the image point shown. Also, describe the transformation, i.e. horizontal shrink, vertical stretch, etc.
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Find the images of A(0,1), B(-3,2), C(-4,0), and D(2,-3). Draw ABCD. In another color, draw A'B'C'D’.
11. (¢ y) = (2x, 2y) 12. (x, y) = (0.5%, y) _ 13. (%, y) = (X, 3y)
Alan) = A (6,2 A(c;!}\ﬂ A (o ;2?((2%:;? ((f—"; £3
FCs )= €' ey | B O By MR
e o\ —5 < (-4, il M
(-4, 0)_-43 c'! (-K 03 C( gy 3 C_ (_—Z D) D(_a _3)__3,1.’)(
u‘) S } A D! (‘Lf 7o i Dj(? 3 4 ¥b( fv:d?)I : - ) z “‘?’) !
L - i 1 .- :.!;i;:: =
2 4 il s I
= T o o N -4 Jf\i
'_9'3!%&6‘;4% EFLEEEENE) r ié N 4 MR ~EN L EEE 75y
I SN o e A e S i s T
i I8 o e
CEEERi ; f A
nt ¥ . : v | wil LS Iv




14. Graph the points A(-1,2), B(2,2), C(1,-3), and D(-2,-3). Quadrilateral A?QD is
mapped to quadrilateral A’'B'C’D’ under a dilation.
A'(-2,4), B'(4,4), C'(2,-6), and D'(-4,-6).

What kind of dilation does this represent?

What is the scale factor from ABCD to A’'B'C'D’?

Describe this dilation in functional notation.
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15. Given the points A(-2, 4) and B(6, 10), find:

a) slope of AB
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b) equation of AB (pt-siope form)
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c¢) length of AB
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Fill in the table by using the functions in the first row below and points A and B above.

f(x, y) = (2x, 2y)

f(x, y) = (%x, %y)

f(x, v) = (2x, y)

1
f 3 = y
(x,y) = (x 2y)
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